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Bugyals are-

Choose the most appropriate answer from the
options given below:

(A) Dry forested areas in Kumaun

(B) Dry forested areas in Kashmir

(C) Vast meadows in high mountains

(D) Snow covered mountain peaks

(E)  Question not attempted

A& -

frfafaa faeredt 4 & @aifas sag® ST IH:
(A)  ETS T TR o &

(B) oI H Y75k o &

(C) oo ydal o fereqd wmget &

(D) 9% TSI gdd @R

(E) 3rgaild o

Maru Raikas are the pastoral groups of Raikas
who are-

Choose the most appropriate answer from the
options given below:

(A) Camel herders (B) Sheep herders

(C) Goatherders (D) Cattle herders

(E)  Question not attempted

T TRISHT UR] <1 6T TR 36 e OHE 6 8 31
frfafeaa faeredt 4 & @aifas 39g® ST I
(A) S H I

(B) VeIl ITeid &

(C) ST ol ITeid &

(D) HATIET T ITerd &

(E) 3rgaid o

Gaddi shepherds belong to-

Choose the most appropriate answer from the
options given below:

(A) Uttarakhand (B) Himachal Pradesh
(C) Rajasthan (D) Maharashtra

(E)  Question not attempted

TE TR (AHE) Hee T -

frfafead faeredt § & @aifaes I9g® ST IA:
(A) TGS (B) feur=a wemd
(C) TSEFH (D) HERTSZH

(E) i@ ys

ABC-A13] [m]

Ifa:b=2:3, then whatis (a + b) : 3a—b)?
g b=2:3, A (a+b): (3a—b)FATR?
(A) 3:5 B) 2:5

< 5:3 (D) 5:2

(E)  Question not attempted / ﬂﬂﬂﬁﬁ 99

The sum of three numbers is 196. If the ratio of
the first number to the second number is 2 : 3 and
that of the second number to the third number is
5 : 8, then the first number is:

W w1 A 196 B Al GEA A @
HEATHAT ohT SATAT 2 : 3 2 T GH S et T
T ITIUTC 5 : 8 &, Tl Teell §e 2

(A) 60 B) 80

(C) 40 D) 120

(E)  Question not attempted / 31@?!‘&?[ Iq

The ratio of the average of two numbers to one of
the numbers is 2 : 3. What is the ratio of the larger
number to the smaller number?

2 AT o 3T ST I § Teh HE&AT T AT
2 : 3 2| St WA 3 DI AT T ST T 82
(A) 4:1 B) 5:1

< 2:1 D) 3:1

(E)  Question not attempted / 31':!)?1']3{?[ BE)

Ifa:6=56:7=c:8, then what is the value of
2a+3b—c 9

bte - 2a+3b
Ifea:6=b:7=c:8 a1 “L=—X HuH

b+e
FTR?

(A) (B)

(911 E N N [V
|»— W]
—_

©) D 13
(E)  Question not attempted / T )

What is the least number which when divided by
12, 15, 18 and 20 leaves a remainder 3 in each

case?

ey B ger 7@ g 12,1518 3 20 @
foranfra s e fefa § 91w 3 sear 22
(A) 177 (B) 186
(C©) 267 (D) 183
(E)  Question not attempted / 31@?!'&?[ 99
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11

What is the least number which when decreased
by 4 is exactly divisible by 10, 12, 14 and 18?
U e DIt HEAT 74 @ S § 4 7 W AT 10,
12, 14 7T 18 & qofd: forrfra & et 82

(A) 1256

(B) 1264
(C) 1252
(D) 1260

(E)  Question not attempted / agﬂi‘{a Iq

What is the greatest number which divides 149,
248 and 623 leaving remainders 5, 8 and 11

respectively?

U e ISt W 4 7, TS| 149, 248 q1 623
2T frTfora ot T SRAET: 5, 8 3T 11 919 sr=raT &2
(A) 20

B) 9

© 12

(D) 15

(E)  Question not attempted / 31'@'&?{ 99

Which of the following is the pastoral community
of Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Gujjar Bakarwal

(B) Gaddi Shepherd

(C) Raikas

(D) Dhangars

(E)  Question not attempted

frfcaRad & & HI9-HT TSE T IRER0 T
2

e e & & aratfires uge S
(A) TSR SETT

(B) T TR

(©) TIHT

(D) X

(E) 3rgaid 94

ABC-A13] [m]
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Match List-I with List-II.

List-I List-1T

(Shepherd (Belongs to)
community)

a. Raikas I.  Jammu and Kashmir
b. Dhangars II. Rajasthan

c. Gaddi Shepherds III. Maharashtra
d. Gujjar Bakarwal IV. Himachal Pradesh

-1 o @Ter -1 7 fire it

eI -1

(st ayer) (Ftera )

a. TFH I S 3R
b. ETR I TS

c. TEITeRE I1l. HERTSS

d. TSR SRETS IV. ferreet yeer

Choose the most appropriate answer from the
options given below:

i faw o ferepeat & & waifare Suge ST
(A) a-IV,b-1ll,c-1Ld-1

B) a-ILb-ULc-1V,d-1

(©) a-Lb-ILc-1V,d-1I

(D) a-NILb-I,c-1V,d-1

(E)  Question not attempted / ﬂaﬂ'ﬁﬁ 99

In India the Wild Life Protection Act was
implemented in-

TRA H Frsier ST Sferferem Smy fora o -
Choose the most appropriate answer from the

options given below:

frfaRaa foeredt # @ waifaes 3ugw € I1:
(A) 1968 (B) 1970
(C) 1972 (D) 1976

(E)  Question not attempted / 31@?!'&?[ 99
[ Contd...
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Which of the following is not the indigenous
milch breed of cattle?

Choose the most appropriate answer from the
options given below:

(A) Jersey (B)
(C) Tharparkar (D)
(E)  Question not attempted

freaferfiaa & @ 1 €t g2 3 arel Uy ot v 6
TE 22

Red Sindhi
Sahiwal

frefeiad fospedt o & wafferes 3ug ST
(A) S (B) oo Tt

(C) URURE (D) wrElE

(E) 3Tl o=

The Foot and Mouth disease of cattle is a-
Choose the most appropriate answer from the
options given below:

(A) Viral disease

(B) Bacterial disease

(C) Fungal disease

(D) Plasmodial disease

(E)  Question not attempted

TR 26T GRIHT-HETeHT T 2-

frfeRad fospeat 4 & @afiere 3ug ST
(A) fwmrst@a (B) Sty sitia T
(C) HISAFIUT (D) TATSHITSTH T
(E) Srfaiayd

In Rajasthan a special economic zone for Gems
and Jewellery has been established at:

Choose the most appropriate answer from the
options given below:

(A) Boranada - Jodhpur

(B) Sitapur - Jodhpur

(C) Bhiwadi - Alwar

(D) Debari - Udaipur

(E)  Question not attempted

TSTEA | T T STVOTT o foTT e foiy HATfeh
&1 TTIA el fohaT TIT 82

frfafead faeredl 4 & @aifaes 39g® ST IA:
(A) SNHTET - SEq (B)  HIATYR - STEQ

(C) Tl - (D) O - IR

(E) Srfaiayy

ABC-A13] [m]
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19

Which of the following states does NOT share its
border with Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Gujarat (B) Maharashtra

(C) Madhya Pradesh (D) Punjab

(E)  Question not attempted

frefafad § & F-81 T5T TSR & 919 37
T TTET T LA 82

freferfaa foreredt # @ affére 3ugw 3o T
(A) TS (B) HEWIY

(C) = (D) USITe

(E) rgaid o

What is the single discount equivalent to
successive discounts of 25%, 20% and 15%?
I Sl 25%, 20% I 15% % GHqed Thd ol
FT 2

(A) 60% B) 51%

©) 49% (D) 42%

(E)  Question not attempted / 31@?1']3{?[ BE)

On selling an article at a discount of 28% on its
marked price, the shopkeeper still earns a profit
of 20%. Had he sold the article at the marked
price, his profit percentage would have been:
Toreft o i ifeRd o W 28% o % HIY s T
ot GHFTR 20% AT 3Ffofe LT 81 Af e g b
SHfoRd T T SIIAT 1 38k AT T FiaRrd fohaet
B

(A) 66%%

B) 40%

©) 58%

D) 33 é—%

(E)  Question not attempted / 31@?!‘?(?[ BE)

[ Contd...
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If the price of petrol increases by 20%, by what
percentage should the consumption of petrol be
reduced so that there is no change in the expenses
on petrol?

UZIA T qT 20% ¢ ST 2| IHeh TN & foha
sifererar <t T T ST, e et W are =
I & @2

(A)  25% (B) 20%
©) 163% D) 13%%
(E)  Question not attempted / ?ﬂgﬂiiﬂ Iq

The average weight of a class of 33 students is
35 kg. If the weight of the class teacher and the
principal be included, then the average weight
increases by 1 kg. What is the average weight

(in kg) of the class teacher and the principal?

Teh el h 33 forenfeiay w1 sitea o 35 foram B
Ife shefTeTdeh N TUHTER o o i+t Site fear
ST AT 3Ed o 1 foru oI ST 21 shereamaes 31K

T ST 3 s (fora #) feraar 22
(A) 52 (B) 50.25
(C) 525 (D) 59.7

(E)  Question not attempted / ﬂoqﬂif[ﬂ Iq

Which one of the following national parks/
sanctuaries is famous for conservation of fossils
in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) National Desert Park, Jaisalmer

(B) Keoladev National Park

(C) Ranthambore National Park

(D) Sariska Wildlife Sanctuary

(E)  Question not attempted

7 o F-a T UM/ USEH
et o wer o forg wftg 22

et fospedt 4 & wafferes 3ug ST
(A) TSR HEES 3T, STHeTHT

(B) hadIRd TS 3

(C) TR U Se

(D) Gl I=sia STHIR

(E) Srfaiays

ABC-A13] [m]
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The Bhakhra Nangal Project is a joint venture of:
Choose the most appropriate answer from the
options given below:

(A) Punjab, Haryana & Himachal Pradesh

(B) Rajasthan, Haryana & Himachal Pradesh
(C)  Punjab, Haryana & Rajasthan

(D) Punjab & Haryana

(E)  Question not attempted

WIGST 1Tt TR ST 1 Teh Y 3 2
frfafad fospeat # @ watfae sagw® S0 T
(A) U, EfeEmn iR fearere yeT

(B) TS, i@ 3R fEnmeret weur

(C) uST, BT 7R Tre

(D) USTTE 37K g

(E) rgaid 9

‘Chaar Baint’
presentation of which region of Rajasthan?

is the famous folk drama/

Choose the most appropriate answer from the
options given below:

(A) Kota (B)
(C) Tonk (D)
(E)  Question not attempted

IR §@ TEAHE & R &7 w1 yfag A

Dausa

Jaisalmer

frfaRaa foeredt # @ @aifae 3ugw 3at 91:
(A) I (B)

(C) o= (D) ST

(E) rgaid o

Name the oldest fort situated on the banks of
river Ghaggar:
Choose the most appropriate answer from the
options given below:
(A) Bhatner fort (B) Amer Fort
(C) Jaigarh Fort (D) Nahargarh Fort
(E)  Question not attempted
o 7t 3 ¢ X Rera i fohet s-ar 29
frefeTRad fospedt @ & wafieres Iag ST
(A) e ferett (B) T feret
(C) STRfRear (D) TeUTg fohar
(E) 3Idia g
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Brahma Temple is located in which place of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Pushkar

(C) Alwar (D) Banswara

(E)  Question not attempted

STRIT Hfeax TSTerT o forer &t ¥ feora &2
frfeiad fospedt 4 & wafferes 3ug ST
(A) SR (B) T

(C) AR (D) digaTeT

(E)  3Taied o1

The highest percentage of fat is found in which
animal product?
Choose the most appropriate answer from the

options given below:

(A) Cow milk (B) Meat

(C) Fish (D) Egg

(E)  Question not attempted

forer ey Seure & S ot iR waifien g 82
frfafad faeredt # & @aifaes 3ag® ST IA:
(A) TEHGY (B) ©M

(C) w5l (D) 3Fer

(E) a9

In which of the following animal products, the
minimum percentage of protein is found?
Choose the most appropriate answer from the
options given below:

(A) Cow milk (B) Egg

(C) Fish (D) Meat

(E)  Question not attempted

frfafad & & fore ST 30918 # W& 1 Jhera

=IATH BT &7

frfeRad fospedt # & wafiere 3ug ST
(A) TEH Y (B) 3er

(C) Wt (D) #E

(E) Srfaiays

ABC-A13] [m]

29

30

31

The system of farming where crop production
and raising of livestock etc. are done on the same
farm is called as-

Choose the most appropriate answer from the
options given below:

(A) Organic farming

(B) Mixed farming

(C) Mixed cropping

(D)  Crop rotation

(E)  Question not attempted

ST (BITHIT) T T8 T ISTHH THet ScaTe TR 93]
T ST Teh & T (%) H fohe SITd 8, shgerar
2-

frfaRad foeredt # @ waifae 3ugw € 91
A) e gt B) fufda et

(C) fBmwaar (D) wud
(E) 3Igdia s

The salary of Sidhant decreased by 16% in one
year due to recession and in the next year it
increased by 25%. The net percentage change in
the salary of Sidhant is:
(A) 5% Increase  (B)
(C) 7% Increase (D)
(E)  Question not attempted

HaT o 0T T a9 H FHEId &1 AaT 16% T2 T
3R 3Tet ¥ 25% w¢ T faEid & 99T ¥ S
SfereTa afterd &

(A) 5%3fg (B)
©) 7%dlE (D)
(E) SIgdia gy

7% Decrease

9% Increase

7 % AT
9 % 3fg

If the difference between 71% and 62% of a
number is 81, what is 25% of the number?
ToReft T o 71% 3 62% | 3 81 1 36 d&a
3T 25% FT &2

(A) 225 (B) 250
(©) 275 (D) 325
(E)  Question not attempted / agﬁﬁ—cr Iq
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When 111 is subtracted from a number, it reduces
to 63% of itself. Then 20% of the number is:
fopel ST H 4 111 e W o i 3t 63% T8 St
1 39 HEAT H 20% -

(A) 126 (B) 555

(©) 60 (D) 42

(E)  Question not attempted / iﬂfﬁﬁﬁ Iq

Which soil found in the western part of Rajasthan
is less fertile?

Choose the most appropriate answer from the
options given below:

(A) Laterite Soil  (B)
(C) Desert Soil (D)

Alluvial Soil

Black Soil

(E)  Question not attempted

TSR o Ut ST § ureft S areft she-et gar
T IUSTTS BT 82

forferfae foremedi & & ararffres suzre et :
(A) WWEeHT  (B) il T

(C) WA (D)  HIeAl qaT

(E) aid 9

Due to the high utility of this tree in the Thar
Desert of Rajasthan, it is called as the
‘Kalpvriksha’ of the desert.

Identify the tree from given below options.

(A) Khair (B) Khejri

(C) Thor (D) Babool

(E)  Question not attempted

TSEIE & AR AEEAA § ITca(oeh I9INT 81
0T T J&T I TEEIS T “HqI&” Hal STl 2l

@ T forehredt 5 & 351 1 ug= i)
(A) W (B) @t
(©) o=r (D) S
(E) Srgaiaug

ABC-A13] [m]
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In summer, hot dry and dusty winds which blow
in Rajasthan are known as:

Choose the most appropriate answer from the
options given below:

(A) Loo (B)
(C) Norwester (D)

Chinook

Fohn

(E)  Question not attempted

TSR 3 3t Siq & <o ATt 37k T Ue e wi
FATE FHEAT &

frfaiaa fosredt # @ waifae 3ugw 3t I1:
A) 9 B) T

(C) FEEX (D) ®F

(E) rgaid o

The advantages of the cage system of rearing

poultry birds are-

a. Rearing of larger number of birds
b. Production of clean eggs

c. Control of parasitic disease

d. Ensuring proper ventilation

Choose the most appropriate answer from the
options given below:

(A) (a), (b) and (c) only

(B) (b), (c) and (d) only

(C) (b)and (d) only

(D) (a), (c) and (d) only

(E)  Question not attempted

e Tt ) e (st Rrees & wrery 35 e 3-
a.  3Afeh §EAT ¥ ufer s e

b. TS IeT I I

c. RSt T T R

d.  ITIH AT hi gifErar

= faw o ferepeat & & waifare Suges ST
(A) %A (a), (b) 3T (o)

(B) & (b), (¢) M (d)

(C)  Fad (b) 3 (d)

(D) F9 (a), (¢) TR (d)

(E) I g

[ Contd...
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Milk fever is usually observed in cows and
buffaloes around calving time and is characterized
by-

Choose the most appropriate answer from the
options given below:

(A) Reduced blood potassium level

(B) Increased blood calcium level

(C) Increased blood potassium level

(D) Reduced blood calcium level

(E)  Question not attempted

T 3R S T I & G (HifedT 2T8H) BN
aTeY firesh e o e 8-

Frerfesfiae et 8 & warfores 3w a0
(A) T T IR T T =T

(B) T H hfcerrd T ol aigHT

(C) T H WA &L ol ST

(D) T | hfce= Tl sl =TT

(E) a9

Mareks disease is a common disease of-

Choose the most appropriate answer from the
options given below:

(A) Cattle

(B) Poultry

(C) Fish

(D) Honey bee

(E)  Question not attempted

HTeh TNT Teh AT TR -

frfafaa faeredt o & @aifae 3ug® ST IA:
(A) WRSTH

(B)  FIpI A

(C) wSat

(D)  Heweg!

(E) SFfaiaws

ABC-A13] [m]
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The phenomenon in which in an image formed by
the mirror, the left of the object appears on the
right and the right appears on the left is called-
Choose the most appropriate answer from the
options given below:

(A) Diffused reflection

(B) Regular reflection

(C) Lateral reflection

(D) Total internal reflection

(E)  Question not attempted
 ftere T guor g o it o a%q

FHEATAT & -

frfafad fasreat # @ watfaes 3agw® SR TH:
A) Toafa (@fafie) weds

B) frafira wad

(C)  uTd qTEd

(D)  9oT ATt Tae

(E) rgaid 9

When an object is placed in front of a mirror the
image formed by the mirror is erect, of the same
size as that of the object and is at the same
distance from the mirror as the object is in front
of it, the mirror is-

Choose the most appropriate answer from the
options given below:

(A) Plane mirror (B) Convex mirror
(C) Concave mirror (D) Parabolic mirror

(E)  Question not attempted

T I I U1 o WA T@T T 8] g9 T S
Sifciforer Wie, 3§ I o TR o T TR 340 &
3T &1 g T ST & TS o o A o 1 7
YT 8-

frfafad fasreat 7 @ watfae 3agw® SR TH:

(A) wHAAIYU  (B) WA U
(C) 3Iadagdur (D) WadATdeh guur
(E) 3Iqdia gy
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A convex mirror is also called as

Choose the most appropriate answer from the
options given below:

(A) Divergent mirror

(B) Convergent mirror

(C) Plane mirror

(D) Parabolic mirror

(E)  Question not attempted

I ST T ot Fed 2
frfeiad fospeat 4 & affere 3ug ST
(A) SuERiEdor  (B) AR gdur
(C) WHAAZU (D) WA 9
(E) 3Tl o=

Name the scientist who proposed the Laws of
Inheritance.

Choose the most appropriate answer from the
options given below:

(A) Gregor Mendel

(B) T.H. Morgan

(C) Hargovind Khurana

(D) Newton

(E)  Question not attempted

SRl ok F12rmT 3 3 aTet AFTTeh ol AT Fard|
frfafad faeredt 4 & @aifaes 3ag® ST IH:
(A) WRTEA (B) 3. w= wh

(C) TG (D) A

(E) a9

Curd is formed by the microbial action of which
bacterium?

Choose the most appropriate answer from the
options given below:

(A) Lactobacillus sp.

(B)  Streptococcus sp.

(C) Salmonella sp.

(D)  Mycobacterium sp.

(E)  Question not attempted

et forer Aoy i gemsiiat foram & sar 22
frfeiad fospeat # & wafiere 3ug ST
(A) cRIdHiaa Tt (B) TrHEHT T,

(C) wreHHen Tl (D) HIEHESFINETT T,
(E) Srfaiays

ABC-A13] [m]
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On which of the following parameters the

crossbreeding  programmes  for  variety
improvement in poultry are focused on?

a. Number and quality of chicks.

b. Tolerance to high temperature.

c. High maintenance requirement.

d. Increase in the size of egg laying birds.

Choose the most appropriate answer from the
options given below:

(A) (a)and (c) only

(B) (b)and (d) only

(C) (a)and (b) only

(D) (a), (b) and (d) only

(E)  Question not attempted

FAHE H TEA AR & [T Fh o HRIEH
forrferfiaa & @ e e B &

a. S T WA SR IUTE

b. 39 AYYM o Ufd Heeiierar

c.  ITU Q@IS hi ATITIHAT]

d. 3feT3Yarer uftRi & R F afy)
frffiad faeredt 3 & waifires suge 3o TH:
(A) 9 (a) 3 (c)

(B) et (b) 3R (d)

(C)  hael (a) 3T (b)

(D) hae (a), (b) 3R (d)

(E) g gy
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Some of the major National parks and sanctuaries

of Rajasthan are-

a. Sitamata Sanctuary
b. Keoladeo National Park
c. Ranthambore National Park

d. Dudhwa National Park
Choose the most appropriate answer from the

options given below:

(A) (a), (b) and (c) only
(B) (b), (c) and (d) only
(C) (b)and (c) only

(D) (a), (b) and (d) only
(E)  Question not attempted

ST o e T TS I ST ST & -
HIATHTAT SR

a.

b.  FaARd T 3T

c. TUTWU@?IW

d. AU I

et faq T forshedt 7 @ warifaes 3uge S 4:
(A) e (a), (b) 3 (c)

(B) #dd (b), (c) 3 (d)

(C) e (b) 3R (c)

(D) = (a), (b) 3 (d)

(E) aid 9

The longest part of an alimentary canal in human
beings is the:
Choose the most appropriate answer from the

options given below:

(A) Stomach

(B) Oesophagus

(C) Small intestine

(D) Large intestine

(E)  Question not attempted

TS H HTER AT T FoIdl T 91T &
ettt fospedt 4 & wafferes 3ug ST
(A) MR

(B) UTEA

(C) VI

(D) =t it

(E) Srfaiays

ABC-A13] [m]
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48

The gland that secretes hormones as well as
enzyme in the human body and controls blood
sugar level is the:

Choose the most appropriate answer from the
options given below:

(A) Liver (B) Salivary gland
(C) Adrenal gland (D) Pancreas
(E)  Question not attempted

BT ST AT o YRR H €W o 8T TEH A
FTE0T LT & ST IR o T ohl o idl ©, 98
S

frefetRad fospedt o & wafferes 3ag ST T:
(A) T (fae)

(B) Tty

(C)  fergeren (TGier) Tifr
D)
(E)

Match List-I with List-I1.

List-1 List-11

a. The special movement 1.
of the muscles of
oesophagus

b. The first and the IL
smallest part of the

Peristalsis

Buccal cavity

small intestine
¢. The terminal end of
the alimentary canal

III. Duodenum

d. The part of the IV. Rectum
alimentary canal in
which the mouth
opens

G=fi-1 o |1 F-11 =T foret it

eI TE-11

a. U Il HIHEURET L ST
T o Tfer

b. BAAFFUEATIN 1. T@ T
Y BIeT AT

c. TSR AT T S RRT 1M1 T=oft
d. STERATA HIAE ARSI V. HARH
T8 & A1Q AT &
Choose the most appropriate answer from the
options given below:

e fo T fereredt # & wa T ST ST TA:

(A) a-ILb-ILc-II,d-1V
B) a-Lb-Ill,c-IV,d-1I
(C) a-Lb-1V,c-II,d-1II
(D) a-IlILb-IV,c-1I,d-1
(E)  Question not attempted / agﬁﬁ—cr Iq
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Which of the following songs is sung by men
during Holi?
Choose the most appropriate answer from the

options given below:

(A) Rasia (B) Mayara

(C) Badhava (D) Toran

(E)  Question not attempted

et I gEST gR - T M ST 2
frfafaa faeredt # & @aifaes 3ag® ST IH:
A) W (B) WM

(C) wemaT (D) RO

(E) 3Tl o1

Which dance is performed in the temple of Kaila
Devi?
Choose the most appropriate answer from the

options given below:

(A) Languriya Dance

(B) Dhol Dance

(C) Fire Dance

(D) Dandiya Dance

(E)  Question not attempted

T 3t Wl B hi-a T foram ST 22
frfafead faeredt 4 & waifas 3ag® ST I
(A) @fETTT (B) SAT

(€) @faTeT (D) sifear e

(E) 3Tl =1

What dance is performed in the sitting posture?
Choose the most appropriate answer from the

options given below:

(A) Bhawai Dance

(B) Terahtali Dance

(C) Bamrasia Dance

(D) Gavri Dance

(E)  Question not attempted

-8 I SIS g8 7T | foraT ST 22
frfafead faeredt # & @aifaes Iag® ST IA:
(A) WEEIE  (B) AT

(©) R (D) TEd A

(E) Srfaiays

ABC-A13] [m]
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53

Which of the following is not a chemical change?
Choose the most appropriate answer from the

options given below:

(A) Fermentation of grapes

(B) Digestion of food

(C) Melting of iceberg

(D) Ripening of fruits

(E)  Question not attempted

frfafaa & & SH-a1 TarRfe Tiad Ta 82
Freiferfia fashedt & warifores suge 3 3.
(A) T e fopuam

(B) WIS T U

(C) Temster (stmgw o) =1 e

(D) WAl T G

(E) ergaiayy

If we cut an apple and leave it in a plate for some
time, it turns reddish-brown in colour. This is due
to the formation of

Choose the most appropriate answer from the

options given below:

(A) Iron oxide
(B) Zinc oxide
(C) Magnesium oxide
(D) Calcium oxide
(E)  Question not attempted
TS B T Hel i FHIEH FS THY o [T i H BIS
A, VIS AL TTHT TSIl 21 T
o S o HRVT 21T &
frfafad fosreat # @ watfas sagw S0 TH:
(A) ST SATRATES
(B) i siTse
(C) AifIrm TS
(D) Ffeuaw HAEs
(E) 3Iqdia g4
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Which of the following™ will float on water?
a.  Airfilled balloon b.
c. Potassium d.

Sodium

Gold ring

e.  Steel spoon

Choose the most appropriate answer from the
options given below:

(A) (c),(d) and (e) only

(B) (b), (c) and (d) only

(C) (a), (b) and (c) only

(D) (a)and(d) only

(E) Question not attempted

frfeRad o & -8t aRE 91 & FO Xt 82
a. TAYWITEAN b, Hifeaw

c. Rfmm 0. @ s

e. Tl T AEH

et fo T forehedt 7 @ @i 3ugw SO I4:
(A) 9 (c), (d) 3R (e)

(B) e (b), (c) HR ()

(€)  Fae (a), (b) A ()

(D) Fad (a) 3R (d)

(E) Srgaiaug

Select the incorrect statements about the
properties of non-metals.

a. Non-metals are found in all three states of

matter.

Except diamond all non-metals are ductile.
Graphite is the hardest non-metal.
Bromine is a liquid non-metal.

Iodine is a lustrous non-metal.

o a0 o

Choose the most appropriate answer from the
options given below:

(A) (d)and (e)only (B) (a),(b)and (d) only
(C) (b)and (c)only (D) (a),(b)and (e) only
(E)  Question not attempted

ST hT TR ITATSAT o T H ST FH2AT BT =R
s

a.  3TUTY 557 1 AT SHEETST & TS ST 8
b. Tzﬁiﬁ@ﬁwwﬁwm%ﬁ?ﬁ%
c. UThIEE HelH ha [ U] %I

d.  §H T 3 U

e aﬁ@ﬁ?@wﬁmél
ﬁﬁqﬂqﬁmﬁﬁmﬁ\mmwaﬁ
(A) el (d) 3T (e)

(B) e (a), (b) 3N (d)

(C) Fad (b) 3 (c)

(D) A (a), (b) 3 (e)

(E) Srfaiayy

ABC-A13] [m]
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57

Which one of the following is not a Sufi Saint?
Choose the most appropriate answer from the

options given below:

(A) Baba Farid

(B) Khwaja Moinuddin Chishti
(C) Dadu Dayal

(D)  Amir Khusro

(E)  Question not attempted
Frerferfia 3 & -3 o w7 &7
Frmeferfia fasredt & warifores 3uge 3 3,
(A) &R

(B) TSI HgTE forelt

©) @

(D) i gE

(E) I g

The life history of the saints (which is) available
in poetry form in Rajasthan is known as

Choose the most appropriate answer from the
options given below:

(A)
B)
©)
D)
E)
Tt 1 Sftae 3fae St wfoar ®9 7 Uo7
ERCCRS % T © ST ST 2

et et & & wartfie Iugw s .
(A)
B)
€) =

(D) ureft

(E) I g

Jhamaal
Vachnika
Jhoolna
Parchi

Question not attempted

FHTA
EEIEET]

AT

[ Contd...
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Which of the following are exotic milch breeds of
cows?

a. Red Sindhi b.
c. Tharparkar d.

Jersey

Brown Swiss

e. Holstein-Friesian

Choose the most appropriate answer from the

options given below:

(A) (a), (b) and (c) only
(B) (b), (d) and (e) only
(C) (b), (c) and (d) only
(D) (d) and (e) only

(E)  Question not attempted

freaffaa & & i-et gar & areft T Ay foeeft

a. Aret faeft b. STt

c.  UNUNER d. s fEw

e.  EcEAAIBIERE

= faw e foeredt & & @aifas 3ug® S TH:
(A) e (a), (b) 3 (c)

(B) e (b), (d) 3T (e)

(C) e (b), (c) 3N (d)

(D) ket (d) 3 (e)

(E) Srgaiaug

Penicillin was discovered by
Choose the most appropriate answer from the

options given below:

(A) Edward Jenner

(B) Louis Pasteur

(C) Alexander Fleming

(D) Robert Koch

(E)  Question not attempted

RIEIEICEEIRC Cian o g foram T
ol

frfeiad fospedt # & @afiere Iug ST
(A) TETE S (B) % Wa

(C) TS FAHT (D) U g

(E) Srgaiaug

ABC-A13] [m]
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The first woman president of the Indian Olympic
Association is:

Choose the most appropriate answer from the
options given below:

(A)  Smriti Irani (B) Sudha Murti

(C) P.T.Usha (D) P.V.Sandhu

(E)  Question not attempted

TR ST e | Sl o A Teaet i 82
frfafad foereat 7 @ watfae 3agw® SR T
) =i (B) gl

© @ATm (D) g

(E) 3Igdia s

In Rajasthan Haansli is worn in which part of the
body?
Choose the most appropriate answer from the

options given below:

(A) Head (B) Neck

(C) Ear (D) Hands

(E)  Question not attempted

TSR | YRR & HIF-H T § ghel et St 22
frfaiaa fosredt # @ @aifare 3ugw 3t I1:
) fw B) T

(©) = (D) =™

(E) aid g

Who presented the first scientific classification of
Rajasthan painting?

Choose the most appropriate answer from the
options given below:

(A)
(B)
©

Vijay Kumar

W. H. Brown

Ananda Kentish Coomaraswamy

(D) Rai Krishna Das

(E)  Question not attempted

TS fosrehet T g IR affeRtor foraes
ERU S ERERIRIRIRIY

frfafad fasheat # @ waiffaes sugw® S0 I
(A) oS FAR

(B) S, TH. SIR_A

(C) M= KT FHRETHT

(D) T FH I

(E)  3Igdita g
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In which city is the Haveli of the Bachhawats
situated?
Choose the most appropriate answer from the

options given below:

(A) Bikaner (B) Chittorgarh

(C) Siwana (D) Jaipur

(E)  Question not attempted

SreSTad s BT hI-8 T H feurd 82
frfafaa faeredt # & @aifaes 3ag® ST IH:
(A) SRR B) FremwE

(C) fTgamr (D) ST

(E) 3Tl o1

Which of the following is not a part of the human
respiratory system?
Choose the most appropriate answer from the

options given below:

(A) Bronchi (B) Alveoli

(C©) Medulla (D) Larynx

(E)  Question not attempted

frmfafaa & & AH-87 HTa G681 9iT T 82
frfafaa faeredt # & @aifaes 39g® ST IA:
(A) e (B)  =Hfuehrd (ufeeaitett)
(©)  HEge (D) 3 (i)

(E) Igaid o=

During exhalation, the ribs-

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

ITAE o SR qE e

ettt fospedt 4 & wafferes 3ug ST
(A) U TR STEL HT TR AT el &

(B) = ST STET il T Tt et 2

(C)  FUT I e hl 3T Tl hielt 2

(D) fer 37 37T T AT i el 8

(E) Srfaiays

Move up and outwards
Move down and outwords
Move up and inwards

Move down and inwards

ABC-A13] [m]
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The Meja Dam has been built on which of the
following rivers in Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Luni River (B) Mahi River

(C) Som River (D) Kothari River
(E)  Question not attempted

TSR 3T fordt T OX AT St I I 22
frfafad foereat 7 @ watfae 3agw® SR T
(A) T (B) W& T4l

(C) @ (D) ISR &Y

(E) 3Igdia s

The respiratory organs in fish are:
Choose the most appropriate answer from the

options given below:

(A) Spiracles (B) Lungs

(C) Gills (D) Fins

(E)  Question not attempted

frfafad fasreat # @ waifas 3agw® S0 T
(A) =y (B) WHS

©) | fe) (D) FE

(E) I g

The “One District One Product Scheme” falls
under which ministry in Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Ministry of Finance

(B) Ministry of Social Justice and
Empowerment

(C) Minister of Textiles

(D) Ministry of Commerce and Industry

(E)  Question not attempted

ek ST Weh 3T TS Tre™ ¥ forg Homer
o Sl AT 82

frfaiaa fosredt # @ @aifae 3ugw 3ot I1:
INERESREISE)
(B) WIS =TT TS erhTiaT Hater
(C) IS HAT
(D) oIS TE SN WA
(E)  3Igdita g
[ Contd...
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Which of the following schemes provide health

insurance coverage to the entire population of

Rajasthan?

Choose the most appropriate answer from the

options given below:

(A) Mukhyamantri Nishulk Nirogi Rajasthan
Yojana

(B) Mukhyamantri Nishulk Dava Yojana

(C) Mukhyamantri Nishulk Janch Yojana

(D) Mukhyamantri

Bima Yojana

Chiranjeevi  Swasthya

(E)  Question not attempted

frfafaa & @ S FSHT o i art
STEITET ShT TIATEL STHT ShealdsT YGTH el 82
frfafad faeredl o & @aifaes Iag® 3T I
(A)  TEwt fHRresh Tt sreer ST

(B)  HewT fH3Ieeh garr AT
(ORR:CLENENG R IERIEE]

(D) TEawHT ferisalt T sftat ArsrT

(E) 3rgaid o

In Rajasthan under the Mukhyamantri Nishulk
Bijli Yojana (Domestic Subsidy) free electricity
(Zero bills) is provided to consumers whose
electricity consumption is units per
month.

Choose the most appropriate answer from the
options given below:

(A) 100 Units (B) 150 Units

(C) 200 Units (D) 250 Units

(E)  Question not attempted

TSTE sl FRIee forstett AT (e
Hfsael) % Ted 3 ITWIRIAT 1 G forsrell (2
foret) wer ot STt & Foreht @ua e
ST 2l

frfafeaa faeredt § & @aifaes 39g® ST IA:
(A) 100 FFE (B) 1507Fe

(C) 2003 (D) 2507

(E) Srgaiaug
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Which scheme provides employment opportunity

to the unemployed youth by providing them

employment oriented skill training?

Choose the most appropriate answer from the

options given below:

(A) Rajasthan Jan Kaushal Vikas Karyakram

(B) Rojgar Aadharit Jan Kaushal Vikas
Karyakram

(C) Rajasthan Jan Kaushal Skill Karyakram

(D) Rojgar Jan Kaushal Skill Karyakram

(E)  Question not attempted

FIF-ET IS SUSTTR AT T USTTRAE hired

SITTEAOT FaT Sheh ST T ST & el &2

Frmaferfia frchedt & & wratfires 3ugw S0

(A)  TSTEA S T [TehTE HRIHH

(B)  USHTR SATeTRa ST ahieret sk shrishd

(C)  TSTEATT S hieTet feshet hrishi

(D)  USHTR S shiTeT f&ahet iy

(E) 3Igdia g

In a class of 40 students, 45% are girls. The
average weight of the boys is 48 kg and that of
the girls is 43 kg. What is the average weight
(in kg) of the whole class?

Teh el o 40 forenfofat & & 45% creferat 8 aesht
T 3Td a9 48 Toram 7T Sreforat st eed as=
43 Toram 31 i et B ST o (for ) T 2
(A) 4525

(B) 40.5
(C) 4575
(D) 48.8

(E)  Question not attempted / agﬁﬁ—cr Iq
[ Contd...
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Which National Highway does not pass through
the Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) National Highway No - 11

(B) National Highway No - 10

(C) National Highway No - 44

(D) National Highway No - 23

(E)  Question not attempted

F-HT TSR TSI TSTEAT & Bl e Tt 22
et fow e forehed 7 @ @ar® UG ST
(A) TSI TSHE EE&T - 11

(B) TSI TN G&AT - 10

(C) TSI USHFT T - 44

(D) TSI TSHA GE&AT - 23

(E) orfaiaug

Which of the following cities in Rajasthan is
known as the ‘City of Stepwells’ due to the
prominence of Bawris?

Choose the most appropriate answer from the
options given below:

(A) The City of Udaipur
(B) The City of Bundi

(C) The City of Jaipur

(D) The City of Ajmer

(E)  Question not attempted

foreferfiaa 3 & TrsreerT it shiv-a wTe st
THEAT % R Tt ST Toded HEdrd 82
FfcTfiad foshedt § @ waifere Iug S 9

(A) ST IH (B) sdtwret
(C) SRR (D) 3SR TTEX
(E) raid 94

Khejarli Andolan for environment conservation
is associated with which state of India?

Choose the most appropriate answer from the
options given below:

(A) Gujarat (B) Madhya Pradesh
(C) Rajasthan (D) Karnataka

(E)  Question not attempted

YHTROT T o foIq <A TR Wsted! JHieie
T o foher Tsr @ Taifera 22

frfeiad fospeat # & wafiere 3ug ST
(A) TS (B) TWH IR

(C) TSI (D) wAlCh

(E) Srgaiaug

ABC-A13] [m]
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77

The highest amount of rainfall is received by
which of the following parts of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Eastern Rajasthan

(B)  Western Rajasthan

(C)  Southern Rajasthan

(D) Northern Rajasthan

(E)  Question not attempted
TSTET % -8 9T 8 AT a9t T8 et 87
frfaiaa fokedt 7 @ @aifae 3ugw 3ot I1:
(A) wSTuSEIE (B)  wia asRee
(C) chfiusem (D) I TSN

(E) eigaiayy

In sports and games the Dronacharya Award is
given to:
Choose the most appropriate answer from the

options given below:

(A)  Players of Olympic Games

(B)  Players of Commonwealth Games
(C)  Players of Archery

(D)  To eminent coaches

(E)  Question not attempted

GRS T F0IT qEehR oot ST 2
frfafad fasreat # @ waifae 3agw® ST T
(A)  FAriftes @t & Raartedt

(B) UgHEd U o Raarear s

(C) gt & Raanfeat ot

(D) AT UfsTeTehl st

(E) 3Idia g

[ Contd...
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The amount of Award money for Paralympic
Games 2024 (Summer and Winter) Silver Medal
winner in India is:

Choose the most appropriate answer from the
options given below:

(A) 1 Crore (B) < 75Lakh

(C) 50 Lakh (D) < 30Lakh

(E)  Question not attempted

TR § ATETeh @t 2024 (HisT 3T Sfdehreti=) &
TSI U TorsidT o foTq Tehr Wi &:

frfafad faeredt 4 & @aifaes sag® ST
A) T 1%0s B) < 757r@

) 50 ») < 30arg

(E) a9

Who among the following has never been (upto
September, 2024) the Chief Minister of
Rajasthan?

Choose the most appropriate answer from the
options given below:

(A) Sachin Pilot

(B) Ashok Gehlot

(C) Bhajan Lal Sharma

(D) Bhairon Singh Shekhawat

(E)  Question not attempted
frefafaa & & s #ft (fder, 2024 T) TSEA
o1 gegHEt Tel @I

frefeiad fospedt 4 & wafferes 3ug ST
(A) @AUREE (B) 39l TR

(C) YSHAI™ (D) O foE e

(E) 3Tl o1

During the decade of 2001-2011 in Rajasthan, in
which district was the highest growth rate of
population?

Choose the most appropriate answer from the
options given below:

(A) Bikaner (B) Ganganagar

(C) Jaisalmer (D) Barmer

(E)  Question not attempted

2001-201 1 3 21 & TR o foret fofet & ST
g o Fatfera oft?

frfafaa faeredt § & @aifaes 3ag® ST IA:
(A) iR (B) TR

(C) S (D) STEHT

(E) a9

ABC-A13] [m]
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82

Which of the following structures is a short form
of pond, found mostly, in western Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
)
fafafaa & @ iF-Ht ST a1 BT ¥4 8
ST fereRteTar: iyt TsrEer  urft STt 82
Frmfefia frhedt § & wratfires 3uge s
(A)

(B) et

©€) @&\

(D) e

(E) I g

Beri
Nadi
Khadin
Lakes

Question not attempted

Under this project the surplus water of Ravi-Beas
is utilized for irrigation in Rajasthan.

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
D)
(E)
39 TESHT o SFaid ell-oae & MR S
TS § =S o foT saaT fora Siar 2
Frerferfiae fasvest § & Frarifores 3w SO0
(A)  ToEAq sie RS

(B) U Sfer afESHT

(C) Tl AR STer g

(D) e sie aREtsHT

(E) 3Iqdia g4

Bisalpur Dam Project
Panchana Dam Project
Gandhi Sagar Dam Project
Sidhmukh Dam Project

Question not attempted
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Which is the only river in Rajasthan which flows
for all twelve months of the year?
Choose the most appropriate answer from the

options given below:

(A) Sabarmati (B) Chambal
(C) Mahi (D) Banganga
(E)  Question not attempted

TSTEAT B -6 ThuTs el S o § SE] He aeh
Tadt 22

it fow 7T foehedt 7 € Gar® 3T ST
(A) HreHdT (B) =&
(C) Hm&r (D) SO
(E) 3Tl o1
Match List-I with List-II.
List-1 List-11
(Name of Tree / (Utility of Trees/
Wood/Grass) Wood/ Grass)
a. SAGWANTREE 1. Making coal
by burning it
b. SALAR TREE II.  Animal fodder
c. DHOK III. Making tools
of Agriculture
d. SEVAN & IV. Making packaging
DHAMAN boxes
G=ft-1 o @rer g1 1 et i)
-1 Te-11
(FeA/ARS AT e /AR
T ) T <hT ITATIET)
a. HNEH & I 34 SR R
T
b. WX J& IL. 9=
c. % ML Y % ST FAET
d. TEuT TR T V. UehfSTT ok fesel ST

Choose the most appropriate answer from the

options given below:

et foq T forshedt 7 @ @it 3ugw S I:

(A) a-ILb-TLc-1V,d-1
(B) a-NLb-1V,c-1,d-1I
(C) a-Lb-ILc-ILd-IV
(D) a-1V,b-Mlc-1Id-1I
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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Who opened almost 300 schools between 1944 to
1956 in the desert villages of Bikaner?

Choose the most appropriate answer from the
options given below:

(A) Komal Kothari

(B)
©)

Swami Keshwanand

Acharya Tulsi

(D) Kripal Singh

(E)  Question not attempted

ToRET 1944 ¥ 1956 o o= SRR oh R a7
T 300 e Giet?

ffafad fasheat & @ waifas Sug® ST I
(A) HHEARLGH  (B) T HIEET

(C) EEgEE (D) & fE

(E) rgaid o

Who among the following may be called the first
prose writer of Rajasthani literature?

(A) Vijiyadan Detha

(B)  Vijay Singh Pathik

(C) Meghraj Mukul

(D)  Shiv Chandra Bhartiya

(E)  Question not attempted

frfafaa & & forar Tereurt anfecr 1 yuw T
TG el ST TRl &2

(A) fosmemer  (B) fosm fagufie
(C) TRETEA (D) R == wRd
(E) raid o

Poetry work which describes the great

achievements of a dynasty or an individual is:
Choose the most appropriate answer from the

options given below:

(A) Raso (B) Vigat
(C) Prakas (D) Rupak
(E)  Question not attempted
T FIAFA S foRel TsEy a1 AR H ARE
STATSEAT T AU LT 8, FEATAT
frfafad fasredt # @ watfas sagw® SR TH:
(A) TEr B) fom
(C) Y= (D) ®Uh
(E) raid u
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One stringed musical instrument that can produce
a wide variety of tunes and melodies is called:-
Choose the most appropriate answer from the

options given below:

(A) Ektara (B) Khartal
(C) Pungi (D) Rawanhattha
(E)  Question not attempted

e, T ATAT ST aTey 31 ST forfaet Srerr ot ¢ 31T
T 3¢9~ T HehdT 8, HEATdT &

frfaRad fosheat @ & @afiere Iug Sa
(A) THarT (B) Wsdrd

(©) bt (D)  [IUIEcAT

(E) 3rgaid o

A sum of money amounts to < 8000 after 5 years
and to ¥ 9800 after 8 years at the same rate of

simple interest. The rate of interest per annum is-

IS YAURT  HTURO SIS h! G X & 5 a8
T T 8000 qT 8 I¥ H T 9800 B STt B SATST hl
Fiftier T 2-

(A) 8% B) 10%
©) 12% D) 15%
(E)  Question not attempted / H@ﬁﬁﬁ Iq

‘X’ lent ¥ 8000 to “Y” for 2 years and % 6000 to
*Z’ for 4 years on simple interest at the same rate
of interest. ‘X’ received I 2400 in all from both
of them as interest. The rate of interest per annum
is:

GTLROT SATST 2! THH QI X 2 T o foIw <Y
< 8000 T IAT & AT *Z° I 4 8T o fATI 6000
RO AAT ] X A H FeA T 2400 AN o &I H TTH

AT 8| AT T Tffer o€ 2-

(A) 5% B) 6%

© 7% (D) 8%

(E)  Question not attempted / ﬂ@ﬁﬁﬁ il
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‘Gram Swaraj Abhiyan’ was undertaken under:
Choose the most appropriate answer from the
options given below:

(A) Sabka Sath, Sabka Vikas

(B) Sabka Sath, Sabka Gaon, Sabka Vikas

(C) Sabka Sath, Sabka Vikas, Mera Gaon,
Mera Desh

(D) Mera Gaon, Mera Desh

(E)  Question not attempted

frefeTRad fospedt o & waffere Iag® ST T:
(A) GTHT |TY, eI foehrd

(B) T |TY, GeIehT TTTel, Tkl foehrer

(C)  IShT GTY, GelehT forehrd, BT TITe, BT <7
(D) TRITIE, BT

(E) I g

The first Sherpa Meetings for G-20 under the
presidency of India was held at:

Choose the most appropriate answer from the
options given below:

(A) Mumbai (B) Jaipur
(C) Surat (D) Udaipur
(E)  Question not attempted

WA shl STEIEIAT o JTqild G-20 & foIw gom oar
EREXCTRECiRIC IR iv

frfafad foepeat 7 @ waffae sagw® S0 T
(A) T (B) SET

© ¥« (D) SR

(E) I g

Where was the 20th edition of India-USA Joint
Military “Yudh  Abhyas-2024’
conducted?

exercise

Choose the most appropriate answer from the
options given below:

(A) Gujarat (B) Odisha
(C) Rajasthan (D) Madhya Pradesh
(E)  Question not attempted

WRA-STHIHT HIh ST STV T8 STV 2024
T 20T GERIUT el TSI TohaT T2

frfafad fasreat 7 @ watfae sagw® S0 T
(a) T« (B)  sifeem
(C) TSI (D) HET YT
(E) rgaid o
[ Contd...
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The word ‘chhe’ indicates the Gujarati influence
on which of the following dialects?

Choose the most appropriate answer from the
options given below:

(A) Dhundari (B) Wagadi

(C) Mewati (D) Bhili

(E)  Question not attempted

TR T FHH-HT ST O T[S T I 22
frfafaa faeredt o & @aifaes 3ag® ST IA:
(A) et B) amE

(C) WaTdt (D) el

(E) rfaiayy

Which is the biggest fair of Rajasthan’s tribal
society?

Choose the most appropriate answer from the
options given below:

(A) Kapil Muni Fair (B) Beneshwar Fair
(C) Kaila Devi Fair (D) Shri Mahavirji Fair
(E)  Question not attempted

T[STEAT o STTTEATET THTST T God SIST HedT hi-9T
2

frfafiaa faeredt o & @aifae 3ug® ST IA:
(A) HUAIHHAT  (B) SorETHAr

(C) anedifar (D) #ff el da
(E) orpaiaug

Which fair is held at Bhavgarh Bandhya village
near Jaipur?

Choose the most appropriate answer from the
options given below:

(A) Sheetla Mata Fair

(B) Karni Mata Fair

(C) Kapil Muni Fair

(D) Khalkani Mata Donkey Fair
(E)  Question not attempted

ST o ke ATaTE e Tifer 8 shi-|1 Hell e
27

frfafiaa faereat o & @aifas 3ug® ST IH:
(A) i @rar der

(B)  Shoft ATaT BT

(C) U HH Her

(D) *ff STt HTAT TS Tt

(E) Srfaiayy

ABC-A13] [m]
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Identify the characteristic features of the Aravali

region in Rajasthan.

a. The Aravali mountains are also called
Aadaval mountain.

b. The Aravali mountain range is regarded as
one of the world’s oldest mountain ranges.

c. Its height increases from South-west to
North-east.

d. Gurushikhar is the highest peak of the
Aravali ranges.

Choose the most appropriate answer from the

options given below:

(A) (a), (b) and (c) only

(B) (a), (c) and (d) only

(€©)  (a), (b), (c) and (d)

(D) (a), (b) and (d) only

(E)  Question not attempted

TSR H SWEet & i faemaret i geam

Hifsg

a.  ITFcA qdd I AT Uere Hft et Srar
2l

b.  IWECH Yad d@er fog i A v
ST T ST 21

c.  THH HAT3 IWU-UEH ¥ IWIH A AR
el 2l

d. TR SR @ i Fad et =e ol

=it faw T forshedt # @ waiferes Sug S I

(A) e (a), (b) 3T ()
(B) e (a), (c) R (d)
©) (@, (b), ()3 (d)
(D) e (a), (b) 3T (d)
(E) 3Igdia g4
Rajasthan is situated inthe  part of India.
(A) North -Eastern (B) North-Southern
(C) East-Coast (D) North- Western
(E)  Question not attempted
TSN YRa s 9 e
(A) ST (B)  ItR-gfaquft
(©) TEidae (D)  ITE-ufst
(E) 3Idia g
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Which of the following is designated as the Nodal
Agency in Rajasthan to implement the Prime
Minister Formalization of Micro Food Processing
Enterprises (PM-FME) over a period of 5 years
from 2020-21 to 2024-25?

Choose the most appropriate answer from the

options given below:

(A) The Rajasthan  State  Agricultural
Marketing Board

(B) The Rajasthan State Administration
Marketing Board

(C) The Rajasthan State Applied Marketing
Board

(D) The Rajasthan State Food Marketing
Board

(E)  Question not attempted

ffafaa o & ford 2020-21 & 2024-25 Tk 5 9
T AT T T GEH @ THEHT SeH 31
ST (4 T — TH T €)1 AT ol oh o Toreer T
T Treet ST % ®9 § A0 TR T 82
frefafiad faeredt & & @aifére sugd ST I:
TSTE T2 i forqur o

TSR £ TR Heh{eT e

TS ¥ TATEE HThCT 1€

TSI € FE AT ATS

AR 54

(A)
(B)
©
(D)
(E)
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Which of the following schemes was launched to
integrate skill development in academic colleges?
Choose the most appropriate answer from the

options given below:

(A) Mukhya Mantri Kaushal Vikas Yojana
(MMKVY)

(B) Mukhya Mantri Yuva Kaushal Yojana
(MMYKY)

(C) Mukhya Mantri Yuva Sambal Yojana
(MMYSY)

(D) Mukhya Mantri Kaushal Nirman Yojana
(MMKNY)

(E)  Question not attempted

SeFfUreh ShicTSil H SRINTCT forehT 2hl Tehiehd i

fore Freaferfian & & e o 9 o1 T2

Fretferfiae bt 2 & warfores suge a0

(A) T ST forshm® AT (MMKVY)

(B) AT AT ST AT (MMYKY)

(C)  TewI a1 avaret ASHT (MMYSY)

(D) T ST AT AT (MMKNY)

(E) rgaid 9

Food cans are coated with tin and not with zinc
because-
Choose the most appropriate answer from the

options given below:

(A) Tinis an inert metal.

(B)  Zinc has higher melting point than tin.
(C) Zinc is more reactive than tin.

(D) Zinc is less reactive than tin.

(E)  Question not attempted

G et (3) WISk o T W o i o =t
BIt & SRAifeR-

frfaiaa fosredt 7 @ @aifae 3ugw ut 91
(A) T o fftra arq 2
(B) e o1 e, fo <t e stfies g )
(€) Toieh, for @ atferen forameficr 21
(D) foe, fo7 o = ot 21
(E)  3Igdita g
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Which of the following is not a metal?
Choose the most appropriate answer from the
options given below:

(A) Sodium (B) Phosphorus
(C) Magnesium (D) Mercury

(E)  Question not attempted
Rreaferiae & & T o e 27

frfafaa faeredt o & @aifaes 3ug® ST IA:
(A) Wi (B) IEHRE

(C) At (D) 9T (FF)
(E) orgaiaug

Choose the incorrect option about the image
formed by a plane mirror. The image is:

Choose the most appropriate answer from the
options given below:

(A) Erect and laterally inverted
(B) Real

(C) Of the same size as the object
(D) Virtual

(E)  Question not attempted

gHIA YT AT S99 Tl Ufdferre o IR H TTad

forehe a1 = <ot wicferssr arar 2-
frfafaa faeredt @ & @aifae 3ug® 3T IA:
(A) ©ier 7R urdd: 3T (Scshiva)

(B) dTdfash

(C) o ATHRH

(D) AT

(E) iy

Who in Rajasthan is remembered as an icon of
bravery, self-respect and sacrifice?

Choose the most appropriate answer from the
options given below:

(A) Amar Singh Rathore

(B) Maharaja Gaj Singh

(C) Rana Sanga

(D)
(E)  Question not attempted

TS o ol sreredl, STed w3 SIfcre o
STefteR o &9 § TS foRaT SITerT 22

frfafead faeredt # & @aifaes I9g® 3T
(A) smfEETdE (B) wHerwnTS e

(C) TomE (D) fava fieudie

(E) Srgaiaug

Vijay Singh Rathore
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105 Match List-I with List-II:

List-1 List-11
a. Depositing a layer I.  Melting
of zinc on iron
b. Changing a solid into II. Evaporation

liquid on heating

c. Changing agasinto III. Condensation
liquid on cooling

d. Changing a liquid IV. Galvanisation

into gas on heating

Tl -1 o = -11 & g ferd shiferg :

T -1 Tt -11

a. W S (S L T
I T =T

b. ™MHRAWIEH [ TSR
39§ S&T

c. ST H WG & ML "
39 H ST

d. THHH WES H V. AT
19 SgeHT

Choose the most appropriate answer from the

options given below:

et fou e oot # @ @i 3ugw S T
(A) a-ILb-I,c-1vV,d-1I
(B) a-ILb-ILc-Ld-1V
(€) a-1V,b-Lc-IL,d-1I
(D) a-IV,b-Lec-MLd-1I

(E)  Question not attempted / 3133?!'&?[ 99
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The fuel we use in the kitchen exists as a liquid.
When it comes out from the cylinder it becomes
a gas (Change - A) then it burns (Change - B).
The following statements pertain to these
changes.

Choose the most appropriate answer from the

options given below:

(A) Process - A (Change-A) is a chemical
change.

(B) Process - B (Change-B) is a chemical
change.

(C) Both Processes A and B are chemical
changes

(D) None of the processes is a chemical
change.

(E)  Question not attempted

TS H AN 8 ST 99 59 €T H BT 8l S

7% foeiet & 9Tet 31 SIaT 2 df 98 79 S S @

(IR - A) 9 I8 I8 STeldT & (JHE - B)| A=

oRg e 3 UiadT @ gafaa 2

frfeRaa fospeat # & @afiere Iug ST

(A) ShAT - A (TG - A) Teh TR Tiad
2

(B) WshaT - B (YREd - B) Tk TETAT Tiad
H

(C) I UGHATE A 3T B TEE (e qiad 2

(D) ST fsRareT A 3R B # @ 1S off Temafies
gfterd= e 21

(E) orfaiaug

Which city did Maharaja Surajmal set up in
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Udaipur (B) Jodhpur

(C) Mewar (D) Bharatpur

(E)  Question not attempted

FETSTT GLSIHe  TSTEAT H ShIH-8T e S o7
frfafiaa faeredt @ & @aifae Iug® 3T IA:
(A) 3R (B) S¥q

() Hare (D) AR

(E) Srgaiaug
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Sagarmal Gopa a democrat and freedom fighter

belonged to which state?

(A) Punjab (B) Rajasthan
(C) Uttar Pradesh (D) Delhi
(E)  Question not attempted

YIRS YT Ueh AlehaAdTeT ST Eaa=dr 441 fore
ST 9 Gt 99

INERSIE (B) TSI
(C) WY (D) feeett
(E) I o

Which of the following states were merged in the
first stage of Integration of the present Rajasthan?
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

AT TSTET o TehIeRTUT o T =0T § Fefofiaa
5 ¥ for Tsat el wmfeet foram i om?

frefetRad fospedt & & aafieres Iag ST
(A) IR, WA, GG, FHeAt

(B) I, ST, ST

(C)  riEarer, SeT, gL

(D) ATTE, AR, 2ih

(E) raid 9

Alwar, Bharatpur, Dholpur, Karauli
Bikaner, Jaipur, Jaisalmer
Banswara, Bundi, Dungarpur

Pratapgarh, Shahpura, Tonk

What is the HCF of two numbers if their LCM is
36 times their HCF and the product of the
numbers is 2304?

3 AT T HEAH FHIAAH T 8, A IR
A FHTISII 3ok HEaH THTIA T 36 THT &

T ITHT U 2304 22
(A) 6 (B) 8
©) 9 (D) 10

(E)  Question not attempted / 31@?!‘?(?[ BE)
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Ankit bought 4 shirts at I 550 each and 2 trousers
at I 820 each, what is the average cost of the

items?

3ferd 1 4 ST T 550 Tk shT & AT 2 Taed
(%) T 820 I T T H W< 37 Tl 1 37

T TR

(A) 690

B) 665

(C) 640

(D) %620

(E)  Question not attempted / ﬂ@ﬁﬁﬁ 99

Which of the following is not a Law of
Inheritance?

Choose the most appropriate answer from the
options given below:

(A)
(B)
(©)
(D)
(E)  Question not attempted

frfefaa = & -a1 Fmi 61 Uk fem T2 22
frfeiad fospedt 4 & wafiere 3ug ST
(A) ST =T ferm

(B) o (uferegr) =t foemr

(C) e FTqege 1 fom

(D) JERRT T W

(E) a9

Law of Dominance
Law of Aberration
Law of Independent Assortment

Law of Segregation

Who is known as the Father of Genetics?
Choose the most appropriate answer from the
options given below:

(A) G.J.Mendel (B)
(C) Charles Darwin (D)
(E)  Question not attempted
SHATTATRTERT F e fehre sheT ST 22

frfafaa faeredt # & @aifaes I9g® ST
(A) StS.dsd  (B) W&

(C) =hederfdd (D) M

(E) 3rgaid 9

Bateson

Hugo de vries
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The simple interest on a sum of money is % of
the sum and the number of years is equal to the

rate percent per annum. The rate per annum is:

ToRef eIIRT OR WTETOT TS 36eh 7ot AT b % 2
ST TS <l AT ST, AT ehl TEAT o R 2| AT
ST itk e =

(A 2 % % B 3 % %
1 2
< 3 5 % (D) 2 3 %
(E)  Question not attempted / 3174 e

In what time, < 8000 will amount to I 9261 at
20% per annum compound interest when the

interest is compounded quarterly?

(A) 3 Years (B) 1% Years
(C) 1 Year (D) 9 Months
(E)  Question not attempted

fope T H 3 8000 AT T <Tshafy sme W 20%
aifSes T & T 9261 B W, I s WIS
AT B 8

(A) 3ad ®) 1+ &
(C) 139 (D) 9HE
(E) rgaid o

A certain sum becomes 8 times of itself in 18
years on compound interest. In how many years

will it become double of itself?

I TR <Thafeg, TS WX 18 ISt Tt b § T &Y

STt 81 37 fope ot # e i I & St 2
(A) 5 B) 6
© 7 D) 8
(E)  Question not attempted / 3T T4
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Sahitya Akademi Award winner Rajasthan Poetry
‘Mugtee’ is authored by:

Choose the most appropriate answer from the
options given below:

(A) Khalid Hussain

(B) Arjun Chawla

(C) Meethesh Nirmohi

(D) Chandrabhan Khayal

(E)  Question not attempted

ey Tehie! QR fostdr, st afaar
T % TG &

FfcTfiad foshedt § @ waiferes 3ug S I
(A) TIAEEET  (B) 3N =mael

(C) Wewfmi& (D) wEMHEE
(E) a9

Identify the person from Rajasthan, awarded the
Sarvottam Jeevan Raksha Padak (Posthumously)
by the President of India in 2021.

Choose the most appropriate answer from the
options given below:

(A) Jatin Kumar (B) Ramavtar Godara
(C) GyanChand (D) Anil Kumar
(E)  Question not attempted

3G Afh i T8 L ST TSEAH § Golg & 3N
52 2021 & 9a % Tsgafd g7 “wa T Sfta L&
UgeR’ (FROTIXIA) | FATH fSham =T o)

frefeiad fospedt 4 & afiere 3ug ST
(A) SR FAR (B) TMTEAR el
(C) FA=I= (D) AT FAR

(E) 3Tl o=

Who was the 12th President of India?
Choose the most appropriate answer from the
options given below:

(A) Smt. Droupadi Murmu

(B) Smt. Pratibha Devisingh Patil

(C) Dr. A.P.J Abdul Kalam

(D)  Shri Pranab Mukherjee

(E)  Question not attempted

AR o 129 TSUTT i 42

frfeRaa fospeat @ & @afiere Iug ST
(A)  fidt goet a9

(B)  sfiwdt afaqur ifee wmfea
(C) SN.T Ul . 3Tsgel el ™
(D) it yorer st

(E) 3raid 9
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According to the Census of 2011 the lowest sex
ratio is found in which district of Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Rajsamand (B) Dholpur

(C) Dungarpur (D) Nagaur

(E)  Question not attempted

2011 T SIFITUMT o STTAR TSTEAT o6 forer 57t o
e HH T STATT T 1T

frfafad fosreat 7 @ waffas sagw® S0 TH:
(A) TSHHE (B) I

©) $mT (D) AR

(E) raid o

The lowest populated district of Rajasthan
according to the Census of 2011 is:
Choose the most appropriate answer from the

options given below:

(A) Dholpur (B) Sirohi
(C)  Jaisalmer (D) Bundi
(E)  Question not attempted

2011 T SUHT % TR TSTEA HT Hodl HH
ST FTeT fe 2

frfafad fasreat 7 @ watfae 3agw® SR T
(A) AR B) o

(C) ST (D) =&

(E) raid o

According to the 2011 Census the highest density
of population in Rajasthan was in which district?
Choose the most appropriate answer from the

options given below:

(A) Jaipur (B) Bharatpur

(C) Alwar (D) Dausa

(E)  Question not attempted

2011 T SFITUMT o STTAR TSTEA o forer et o
TATTYh SHEEAT Bcd 9T?

frfafad fasreat 7 @ watfas 3agw® SR T
(A) IR (B) O

(C) A (D) 3T

(E) 3Idia g
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According to the Census of 2011, which of the
following districts of Rajasthan was the second
largest populated district?

Choose the most appropriate answer from the

options given below:

(A) Bikaner (B) Jodhpur

(C) Jaipur (D) Alwar

(E)  Question not attempted

SATUAT 201 1 % STTER 1 H & TSR o hiH-81
ST o Stfersher™ ST aTett fsfetr o
frfaRad fospeat @ & wafiere Iug ST
(A) R (B) S¥q

(C) AR (D) R

(E) a9

Which of the following statements is correct in
the context of the location of Rajasthan on a
World Map?

Choose the most appropriate answer from the

options given below:

(A) Rajasthan is located in the southern
hemisphere.

(B) The tropic of cancer passes through the
south part of Rajasthan.

(C) The tropic of cancer passes through the
middle of Rajasthan.

(D) The equator passes through the northern
part of Rajasthan.

(E)  Question not attempted

famafafaa 9 9 sa-a1 e e i fog aefs
T fegfa & def A g 22

frfaRad fospeat @ & @atiere 3ug ST

(A) T gfeuft et & feera 21

(B) ek X TSIET o SFequf} AT & Brerx Torelt
H

(C) e T TISTET o HE 91T & Biehd o 2

(D) YFE @ TSI oh ITRT T & Bl ot
2

(E) Srfaiays
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Recycling can be done for:

a. Metal cans

b. Medical waste

c. Radioactive waste

d. Plastic bottles

Choose the most appropriate answer from the

options given below:

(A) (a)and (b) only

(B) (b)and (c) only

(C) (a)and(d) only

(D) (c)and (d) only

(E)  Question not attempted
T o S T 2

a. ar1d & fesati ot

b.  Taforear safire &r

c. ewfwr smfre e

d. ATk it Sae

e fa T foreredt & @ wariferes Sugw S A
(A) e (a) 3R (b)

(B) e (b) K (c)

(C) hadl (a) 3N (d)

(D) e (c) 3R (d)

(E) rgaid e

The microorganism that causes Rabies is a-
Choose the most appropriate answer from the
options given below:

(A)
(B)
©)
(D)
(E)  Question not attempted

i o fore Seerft garsfa @ -

frfaiaa fosredt 7 @ @aifae 3ugw ut 91
(A) ST

B)  fowmy

(C) wIrSHIfSEH

(D) HIH

(E)  3Igdita g

Bacterium
Virus
Plasmodium

Fungi
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Which of the following materials cannot be used
for making compost/manure?
Choose the most appropriate answer from the

options given below:

(A) Fruit and vegetables peels
(B) Excreta-dung

(C) Rotten food materials

(D) Oil and paint

(E)  Question not attempted

frafafea & @ iF-a1 9erd Fike/@r a9 e §
SRR T TRt ST ehar?

frfaRad foskeat @ & @atiere Iug ST
(A) ol 3R Gfesrt & foeh

(B) TR STufyrs

(C) W< gL EE e

(D) dA AU

(E) orgaiaug

Match List-I with List-II.

List-1 List-1T

a. Gobar gas plant I. Iron scrape and

broken plastic

items

II. Solid waste

III. Cow and buffalo
dung

IV. Earthworm

b. Vermicomposting
c. Landfill

d. Recycling

HT-1 3 | G=iT-11 T e shifr)

Tel-1 Te-11

a. TEUE A I e o e A
T AT T FTHTH

b. FHieRIET II. 39 S

c. M WOT (Tefthen) I 7T 31X 5 T TTIeR

d. YR IV. 3T

Choose the most appropriate answer from the

options given below:

et faw T forshedt # & waifieh 39w S I

(A) a-ILb-IV,c-II,d-1
(B) a-TLb-IV,c-1I,d-1
(C) a-NLb-ILc-Ld-IV
(D) a-Lb-MLc-I,d-1IV
(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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The Amendment Act which ceased the reservation
of seats for Anglo-Indians in the Lok Sabha and
Legislative Assemblies:

Choose the most appropriate answer from the

options given below:

(A) 104t Amendment Act
B) 105t Amendment Act
©) 106" Amendment Act
(D) 107t Amendment Act
(E)  Question not attempted

9 dunye ARIfEm e dgd dleeeT 3R
foramaareTt O Tl sfead & forg et o1 st
HHTH oL T TR

frfafad fosredt 7 @ watfas 3agw® SR T
(A) 104 a7 e Tferf=m

(B) 105 I €me SAferf=m

(C) 106 aT Temer rferf=m

(D) 107 I G3meA At

(E) raid o

Who among the following is the recipient of the
Dadasaheb Phalke Award 20247
Choose the most appropriate answer from the

options given below:

(A) Rekha

(B) Rajnikanth

(C)  Amitabh Bachchan

(D) Mithun Chakraborty
(E)  Question not attempted

ffifiad o @ forer TTeT ATee Hieeh TR 2024 &
gt fopam T 22
i few e forehedt & & wa@ SUg ST
(A) @
(B) TWHIehid
(C) AT S=a
(D) oo =rsparcit
(E)  3Igdita g
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Which of the following is not a Rabi crop in
northern India?
Choose the most appropriate answer from the

options given below:

(A) Wheat

(B) Maize

(C) Mustard

(D) Gram

(E)  Question not attempted

7 o 9 - 39 9 | it o w22
frfafaa faeredt o & @aifas 3ug® ST IA:
(A) T

(B)  HeRT

(C)

(D) =

(E) i uy

The first phase of Jaipur Metro Rail Project i.e
Phase - 1A started, was from:
Choose the most appropriate answer from the

options given below:

(A) Mansarovar to Badi Choupar

(B) Chandpole to Badi Choupar

(C) Mansarovar to Chandpole

(D) Mansarovar to Jaipur

(E)  Question not attempted

ST Hgl T TRETSIT 3T o =07, =R/ - 1A &
TATAT:-

frfafaa faeredt o & @aifae 3ug® ST IA:
(A) AHEUR Y w9t g

(B) wieuiel & o€l Sug

(C) UMEIR ¥ Tiguie

(D) AR & SR

(E) SFfaiaws
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In the winter season rainfall occurs in some parts
of Rajasthan due to the Mediterranean cyclones,
which is called

Choose the most appropriate answer from the

options given below:

(A) The Blossom Showers
(B) Kall Vaishak

(C) The Mango Showers
(D) Mavath

(E)  Question not attempted

M B/ H TSTEAH % FS 9 H THEEI
TehaTdl © BT ATt T T ShgeTd ! 22

frfafad fasheat % @ waifaes Sugw® S0 I
(A) FAHIEBR  (B) HA-STE
(C) mmaNt (D) &3

(E) rgaid 9

Which is the biggest saline water lake of
Rajasthan?
Choose the most appropriate answer from the

options given below:

(A) Didwana (B) Pachpadra

(C) Sambhar (D) Lunkaransar

(E)  Question not attempted

TSTET ol T St @ T AT St shia-dl &2
frefetRad fospedt o & wafferes Iag® ST
(A) Srearr (B) 9=HsT

(C) 9™ (D) TIOThTTER

(E) raid o

Which river of Rajasthan is connected to the
Vedic and Puranic period?
Choose the most appropriate answer from the

options given below:

(A) Saraswati (B) Mahi
(C) Banganga (D) Luni
(E)  Question not attempted

TSTET 3h1 ShI-HT FaT Ifcer Tal T i § Heiferd
2

frefeTRad fospedt @ & wafieres Iag ST
(A) Tt (B) W&
(C)  SmoRrm (D) o
(E) 3Idia g
[ Contd...
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The Construction of the Ganga Mandir of
Bharatpur was started by Maharaja Balwant
Singh in 1845 and the construction work
continued for

Choose the most appropriate answer from the

options given below:

(A) 10 Years (B) 20 Years
(C) 60 Years (D) 90 Years
(E)  Question not attempted

WA o T AR i e seae fig
T 1845 H & oA mar o1 SR i e

ST Tl
frfafiaa faercdt o & @aifas 3ug® ST IA:
(A) 1099 dh (B) 2099 dh
(C) 60a8dh (D) 9098 dh
(E) rfaiayy

Which type of turban is worn by the men in
Rajasthan on the occasion of marriages?
Choose the most appropriate answer from the

options given below:

(A) Lahariya

(B) Madeel

(C) Antiwali

(D) Mothda

(E)  Question not attempted

TSTET # fordTe o STEE O e foher Tohmt ol T
TETd 87

frfafaa faeredt o & @aifas I9g® ST IA:
(A) @i (B) Wi

(C)  3fareht (D) o

(E) Srgaiaug
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Match List-I with List-II.

List-I (Instruments) List-II (Features)

a. Ektara L This was beaten
with two thick
wooden sticks.

b. Algoja II.  Main instrument of

Bhopon
c. Ravanhattha  III. Meerabai used to

play this instrument

d. Nagada IV. Flute like
instrument

-1 T F=-11 % | e 4

Tt-1 (@rerE) -1 (FawiwaT)

a.  THAW I S9! O olohet
F S I SIeET
ST 2

b.  3FeIST IL. i o @ A

c.  TadEed Il ¥ ST HieTs
ST Rl off

d. e V. Sigd St e

Choose the most appropriate answer from the

options given below:

:ﬁ%ﬁ'QITQ EETSIR:K:] '\’?3”3135303?5 W?ﬁ

(A) a-Lb-I,c-1I,d-1V
B) a-ILb-IV,c-Ld-III
(C) a-IV,b-Ill,c-1,d-0I
(D) a-1IL,b-IV,c-1Ld-1
(E)  Question not attempted / 31@?!‘?(?[ 99

In cattle digestion of cellulose occurs in-
Choose the most appropriate answer from the

options given below:

(A) Oesophagus (B) Rumen

(C) Small intestine (D) Large intestine
(E)  Question not attempted

TR ST T e BT R -

frfafad fosreat # @ waifae 3agw® S0 T
(A) TEHH (B) ®H

(C) AT (D) aAAH

(E) ¥ g
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Cud is-

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

I (F2) -

frfeiad fospedt 4 & wafiere 3ug ST
(A) ORSAT H AT &9 § qiferd i

(B)  STTRTETIAT | T UTferd WIS

(C) TETETRET | 3Tif¥Tes &9 & rfard s
(D) HiETETET & qUf aTferd Hise

(E) rJaid 9

Partially digested food in cattle
Fully digested food in herbivores
Partially digested food in carnivores
Fully digested food in carnivores

A shopkeeper sold an item for X 1188 and suffered
a loss of 10%. At what price should he have sold
the item to gain 20% profit?

T THMER Tl aeq 1 T 1188 # s=raT & 3R
10% ﬁ%’ﬁ?ﬁﬂ?ﬂ%l 20% ATH ITH & o fog 39

a7 1 38 ey 0 3 e R

(A) R 1567 (B) 1657

(C) 1584 (D) 1675

(E)  Question not attempted / ﬂaﬁﬁﬁ Iq

Rohan buys a wrist watch at % of its marked
price and sells it to his friend at price which is 8%
more than its marked price, his profit percentage
is:

e U e T i e 5 Wi
I 37 o a7 ford ot & 8% AT WX o< ot
B TRt AT wfaeTd -

(A) 28% B) 30%
©) 35% D) 32%
(E)  Question not attempted / H@ﬁﬁﬁ Iq

The cost price of an article is % of its selling
price. The profit percentage in this transaction is:

orel =T o1 o7 T S Fo e T 5 31 30

-3 | AT T ITaeId 2
(A 15% (B) 20%
(C)  24% D) 25%

(E)  Question not attempted / ﬂ@ﬁﬁﬁ Iq
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The city in which the kite festival is celebrated in

Rajasthan, on 14th January the day of Makar
Sankranti, is:

Choose the most appropriate answer from the
options given below:

(A) Ajmer (B) Udaipur
(C) Bikaner (D) Jaipur
(E)  Question not attempted

TSTEAT | 14 SHe, Heht Gshifd o o qdi Aeicaa
forer 7L H W ST 82

frfafad foereat 7 @ watfae sagw® S0 TH:
(A) 3N (B) 3

(C) R (D) SR

(E) rgaid 9

Ministry of Jal Shakti has taken up the “Jal Shakti
Abhiyan” with the theme “Catch the rain — where
it falls when it falls”. Which of the following are
major intervention of the campaign?

a. Water conservation and Rainwater
harvesting

b. Renovation of traditional and other water
bodies/tanks

C. Reuse and Recharge of bore-wells

d. Watershed development

e. Intensive afforestation

Choose the most appropriate answer from the
options given below:

(A) (a), (b) and (c) only

(B)  (b), (c) and (d) only
(€) (b), (c), (d) and (e) only
D) (@), (b), (), (d) and (e)
(E)  Question not attempted

STl SIfeh HATAT 3 “STeT Tfeh SR S et
o oh geel — ST 7w iR, st 7w e ot % @
AR
forefotia & & -8 Sfirm i e Teereerdr 27
A, ST ECET 3 At S R
b. UUie IR I S [y / T H
ECIEiEzWI
c. SR T F: TN R TTHROT
4 awerE e
& g
ﬁﬁqmﬁw%ﬁﬁwaﬁ\%mwam
T hifsru:
(A) e (a), (b) 3 (c)
(B) e (b), (c) I (d)
(©) A (b), (), (d) AR (e)
(D) (a), (b), (c), (d) 3R (e)
(E) 3Idia g
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Which of the following Reactor Type is currently
operating in Nuclear Power Plants of India
situated in Rajasthan?

T 5 T 3o A & T e
o et o 9 forer wepr ot T e 22

Choose the most appropriate answer from the

options given below:

frfeiad fospeat # & @afieres Iug ST
(A) CANDU (B) BWR
(C) IPHWRS590 (D) VVER 1000

(E)  Question not attempted / H@ﬁﬁﬁ Iq
“Nilagai” is a species of-
Choose the most appropriate answer from the

options given below:

(A) Cow (B) Deer

(C) Horse (D) Buffalo

(E)  Question not attempted

frfafiaa faereat o & @aifas 3ug® ST IH:
(A) TEH B) e

(C) = (D) SaHr

(E) raid 9

Deforestation is harmful to us because-

Choose the most appropriate answer from the
options given below:

(A)
(B)
©
(D)
(E)  Question not attempted

frfafiaa faereat o & gaifas 3ug ST IH:
(A) %Wl - SO ST ¢

(B) I T - UG =TT 2

(C) Jgaul ¥ gfg Tl

(D) I HaT I A FEraT 2l

(E) Srfaiays

It increases soil erosion.
It decreases soil erosion.
It increases rainfall.

It increases soil fertility.
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Which of the following statements are correct

regarding the Keoladeo National Park?

a. It is located in Pratapgarh city.
b. It is the habitat for many birds.
c. It is famous for conservation of the leopard.
d. Migratory birds come here in specific

seasons.
Choose the most appropriate answer from the

options given below:

(A) (a), (b)and (c) only
(B) (b), (c) and (d) only
(C) (b)and (d) only

(D) (a), (b) and (d) only
(E)  Question not attempted

FHacTed TT 3T & a1 § Fefefga 8 @ -9

AT G &2

a. I YA IR H feud R

b.  IE Ik Ul T 9T T B

c. &G (STE) T 3k fore g B

d. el foe seqelt § st vaft yam & fog
3T 2

Frer faq e fershedt & & wrartferes Suge SOt

(A) T (a), (b) 3T (c)

(B) had (b), (c) 3 (d)

(C) = (b) 3 (d)

(D) % (a), (b) 3T (d)

(E) I g

Which of the following is not a fresh water fish?
Choose the most appropriate answer from the

options given below:

(A) Catla (B) Rohu
(C) Hilsa (D) Common Carp
(E)  Question not attempted

famfafad 98 - gad sTeraiia s i 7ot
T 27

frfafad fasreat 7 @ waffae 3agw® S0 TH:
(A) ot (B) g
(C) fewmr (D) i HY
(E) 3rgaid 9
[ Contd...
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